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is 24 minutes・In this paper, an outline of the code is given. Some

part of the DTL planned for the JHP 1 -GeV proton linac aiEalso

intensity beam is attempted, two problems are introduced.One
arises from space-charge effects; the other arises廿om the using
the average electric fields・In the PARMILA code, all of the

simulate a high-intensity beam in a DTL・A step-by-step calcu-

calculation・The code is highly vectorized up to a vectorized

-<=-×ＢＬ

code・Then, the shape of the field distribution is approximated

calculate the radial electric field (E)廿om the accelerating one
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Fig.2 Change in the transverse energies through the cell vs. the average
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simulation・The electric and magnetic fields in the step are
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Fig.3 Change in the transverse kinetic energies through the cell vs・the
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verse oscillation (Fig.3). In this case, a change in the transverse

Ｉ
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for two collision particles among 1600 particles・They collide
almost longitudinally at a length of 107 mm・Figure 5-b is a

oscillation・In conclusion, the collision, which results in large

energy is not sufficiently large to be seen in an electron storage"鋤
一

output beam・At first, the motion in a unit cell (No. 11; from the

the initial 2000 particles・The values of the transverse twiss

turned on (̅ 175 T/m), the transverse kinetic energies vary large
on the order of 0.5 keV, reflec伽g the beginning of the trans-
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Fig.4 (a) Ti･ajectories (x vs. z) of two collision particles through the
eleventh cell.(b) Difference between the change in the x-gradient for 3.3/5.3
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two panicles・A change in the energy due to a collision can be seen at
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fig.6 (a) Output beam emittance (y-y'). The two circles indicate the collision particles in the 27-th cell, (b) Coulomb force (arbitral･y unit) for
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